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2021A12           (PROPORTIONS, RATES) 

Level 1: We start by determining the height the bottom rim of the Lower Mid needs to reach. 

𝐵𝑎𝑠𝑒 ℎ𝑒𝑖𝑔ℎ𝑡 (𝑓𝑡) + 𝐴𝑑𝑑𝑖𝑡𝑖𝑜𝑛𝑎𝑙 𝐶𝑙𝑒𝑎𝑟𝑎𝑛𝑐𝑒 (𝑓𝑡) = 𝑁𝑒𝑐𝑒𝑠𝑠𝑎𝑟𝑦 𝐻𝑒𝑖𝑔ℎ𝑡 (𝑓𝑡) 

39.5 𝑓𝑡 + 5 𝑓𝑡 = 44.5 𝑓𝑡 

Because we know that the Lower Mid still has to be lifted ¾ of this distance, it is already ¼ of the distance 

off the ground. 

𝑁𝑒𝑐𝑒𝑠𝑠𝑎𝑟𝑦 𝐻𝑒𝑖𝑔ℎ𝑡 (𝑓𝑡) ∗
1

4
= 𝐶𝑢𝑟𝑟𝑒𝑛𝑡 𝐻𝑒𝑖𝑔ℎ𝑡 (𝑓𝑡) 

44.5 𝑓𝑡 ∗
1

4
= 11.125 𝑓𝑡 

Level 2: First, determine how many feet the Lower Mid still needs to be raised. 

𝑁𝑒𝑐𝑒𝑠𝑠𝑎𝑟𝑦 𝐻𝑒𝑖𝑔ℎ𝑡 (𝑓𝑡) ∗
3

4
= 𝑅𝑒𝑚𝑎𝑖𝑛𝑖𝑛𝑔 𝐻𝑒𝑖𝑔ℎ𝑡 (𝑓𝑡) 

44.5 𝑓𝑡 ∗
3

4
= 33.375 𝑓𝑡 

Then divide by the rate of movement to determine the time the lift will take. 

𝑅𝑒𝑚𝑎𝑖𝑛𝑖𝑛𝑔 𝐻𝑒𝑖𝑔ℎ𝑡 (𝑓𝑡)

𝐿𝑖𝑓𝑡 𝑅𝑎𝑡𝑒 𝑓𝑡/𝑚𝑖𝑛
= 𝑇𝑖𝑚𝑒 (𝑚𝑖𝑛) 

33.375 𝑓𝑡

2.5 𝑓𝑡/𝑚𝑖𝑛
= 13.35 𝑚𝑖𝑛 
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A Base section being installed. 

 


